Math 150A Midterm 3

(Dated: November 24 2014)

Name:
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Write clearly and box all your answers. Simplify all formulas to the very end. No calculators
allowed. Do not work out of memory, rather think before starting your calculations. Use the back

for more space. Show all steps you are performing,
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1) The sum of two positive numbers is 16. What is the smallest possible value of the sum of their
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2) A rectangular storage container with an open top is to have a volume of 10 m3. The length of

squares?

its base is twice the width. Material for the base costs $10 per square meter. Material for the sides

costs $6 per square meter. Find the cost of materials for the chapest such container,
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3) Find f if f =6z +sinz
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4) Evaluate the integral f(;? (y—1)(2y + 1)dy
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5) Evaluate the integral fl “2 22dy
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6) Evaluate the integral [ 2 cos(z®)dz
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7) Sketch the region enclosed by the given curves and find its area, y=sec’z, y = 8cosz, -5 <%,
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9) Sketch the region enclosed by the given curves and find its area y = cos 7z, y = 422 — 1
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10) Evaluate the integral [ +/cot = csc? adw
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